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. y=4x?+5x VI.  y=In|2x?+ 3|
1. = 5x° + 4x3 + 2x — sinx
! y -5 Vi y =32

Y VIll.  y=In|x|.cos™1x

IV. y=e*.sin2x

frd —_— 2 sa—1
V. y=sinx+ tanx IX. y 1—x2.sin"1x

(02). 4x% — 3y2 = 5 »®, 3y‘;—§ —4x =0 90 e,
(03). x2y = In|x| »®, x3 % + 2x%y = 1 90 eusiOsi®m.
(04).y = cos VEF 1 20, 4(x +1) 22 +22 + y = 0 50 cesiosis.
(05). y = x sin 2x »®, xd—+ 4x—+ 8y = 0 29 coxtosyn.
d*y
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(06).y =x.e* »®, oz = 2x o 4y 20 eusiosys.
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. x=cos3t,y=sin3t IV. x=sin"1t,y=rcos 't
. x=2t+sint,y=t—cost V. x=a(t—sin2t),y = b(t + cos2t)
. x=et,y=xet VI. x=t>+2t,y=2t3—6t



